
	
  

Série	
  de	
  TD	
  sur	
  le	
  MLD	
  

	
  

Exercice	
  1	
  :	
  

Transformer	
  le	
  Modèle	
  E-­‐A	
  suivant	
  en	
  un	
  Modèle	
  Relationnel.	
  

	
  

Exercice	
  2	
  :	
  

Établir	
  le	
  modèle	
  logique	
  de	
  données	
  correspondant	
  au	
  modèle	
  EA	
  suivant	
  :	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

Division
divnum
divnom
divca
divadr

Division
divnum
divnom
divca
divadr

Equipe
equnum
equnbemp
equspécial.

Client
clinum
clinom
cliraisonsoc.
cliadr
cliactivité
clicontact
clitel
clifax

Projet
pronum
prothème
prolibellé
prodébut
proéchéance
profin

Tâche
pronum
tacnom
taccoût

Tâche
pronum
tacnom
taccoût

Matériel
matnum
matnom
mattype

Matériel
matnum
matnom
mattype

Salarié
salnum
salnom
salprénom
salfonction
salrémun.

travaille

regroupe

encadrement
commande

constitue

composition

est-encadré-par

encadre

est-composé-de compose

coordonne

utilise

participe
datedébut
datefin
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